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Question el s Note
1y | True 0.3
Justification: substitute x by (/3 — 1) the equation is verified. -
False
2) | Justification : 1f x is the imitial price. after first decrease the price 1s 0.8 x ; after the second | 0.5
the price = 0.8 . (0.8 x) =0, 64 x. the price decrease de 36%.
I True
3) Iustiﬁc__latil:un Do 0.5
{(x+1) —(x—1) =4x positive product of 2 positives numbers.
Trme.
. o z 2 I, gt 5
4 Tustification : cos*C +cos”B = AEJ —i —A4C ’:’E =1 0
BC?  pgl BG?
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a)
D)
1 3 nls
1)

I b) Sllape of (AB)=-1, agap) = a(oy= —1 then (D) L to (AB). 1
The midpoint of [AB] have coordinates (-3 .-1) et -1= -3 +2 which 15 on (D) then(D) 1s the
perpendicular bisector of [AB).

a) K midpoint of [EE] then K{-3/2 |1/2) 1
Radius of the circle = % %1‘ AK = ||=—DI if = radins, K is on (C).
4 _ [cn
2) | b) KM = ,' (m —3)% . Mis on (C) then KM= radius, Jom 32 = \E‘ then
1.2 _ 50
(m=3=% 1
I: 1 'u.ﬂ —50 \:D%Di_m_—\fﬂ _é.
3 | EF = A . xp—2=—4 andys= 4 then F (2 . 4). .
ABEF 15 a rectangle. (parm + right angle)




b) K point on (D) and A translate of K, (AE) // to (D) then (D)= (AE).

E-vA . . 1
slope nﬂﬁ_E}—irE _Fm =lor apy=a@m=l. y=xtborAison(D’)then ya=xa+b
.b==-2.
day| Monda| Tuesda| Wednesda| Thursday| Friday| Saturda
¥ ¥ Y ¥
1) 1.1=
frequency 120 130 225 120 200 450
%) The percentage of televisions not sales %= 5% 0.5
S00
450
10 400
350
300
250
3) | o0 0,75
150
100 -
50
o T T T T T
monday  tuesday wednesday thursday friday saturday
a-Qx)=(x-2y+5(x-3)2-x)+x" -4 -
=x" -4x +4 +5(x" +5x-6) +x -4 0.5
=_3x"+21x-30
1} | b- Q(x)=-30 then Q(x) +30=0then x=0o0rx=7 0.5
c-QE)=(x-2) +35(x-3) (2 —x) Hx-2)(x+2)
={x-2)[(x—-2)-5(=x-3)+(x+2)] 0.5
= {x — -3z +135).
a-Dx)= 0 thenx‘!—4x+4+|{2:{—-ﬂ-} x+3)=0
v )| (x—=2)3x+4)+* 0. Thenx+ Zand:-:i;i 0.7s
- _AX T A+
b- F(x) = (x-2)-3x+15) _ (-3x+135)
(x-2)3x+4) (3x+4) 0.25
F(x)=2. —3x+l3 3
ix+4
SAx+15=2(3x+4)
x= 0.5
a9
LY Let xbe the price of tishirt and v the price of pant.
{4-:1: + 3y = 100 000 1,25
6x + 5y = 120 000
v=- 80 000 LL impossible my cousin is wrong . 075
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a) AMB =90° (AMB inscribed in semicircle (C)) AOD =90°
1
2) | ADO = ABM =90-AD0
AM _ AE _ _ _
bjE—Ethen AMxAD=ABx AD=6x3=18 0.5
(OE) axis of symmetry in the isosceles triangle OFM.
I point of the axis, then IF =IM then the triangle IFM is isosceles.
3) 1
AMF = IMF =90 /2 =45, then FIM right isosceles triangle.
(FI) // (MB) two perpendiculars to (ME).
D) | Thates 24 =1 o IM=IF then -4 1
LE 1M LE IF"
In the triangle AMB: MH x AB = MA x MB
5) MHx6 =—xMB  thenMH= — =222 1
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